
α)	
  Επειδή	
  AB	
  =	
  AΓ	
  και	
  AE	
  =	
  AΔ	
  είναι	
  AB	
  +	
  AE	
  =	
  AΓ	
  +	
  AΔ	
  ⇔	
  BE	
  =	
  ΓΔ.	
  

	
  

	
  
β)	
  Τα	
  τρίγωνα	
  ΔΒΑ	
  και	
  ΕΑΓ	
  έχουν:	
  

ΑΒ	
  =	
  ΑΓ,	
  από	
  υπόθεση	
  

ΑΔ	
  =	
  ΑΓ,	
  από	
  υπόθεση	
  

ΔΑΒ	
  =	
  ΕΑΓ,	
  ως	
  κατακορυφήν.	
  

Από	
  το	
  κριτήριο	
  ΠΓΠ	
  τα	
  τρίγωνα	
  ΔΒΑ	
  και	
  ΕΑΓ	
  είναι	
  ίσα	
  οπότε	
  BΔ	
  =	
  ΓE	
  επειδή	
  είναι	
  

απέναντι	
  από	
  τις	
  ίσες	
  γωνίες	
  ΔΑΒ,	
  ΕΑΓ	
  .	
  

γ)	
  Τα	
  τρίγωνα	
  ΔΒΑ	
  και	
  ΕΑΓ	
  είναι	
  ίσα	
  οπότε:	
  ΔΒΑ = ΕΓΑ	
  	
  επειδή	
  είναι	
  απέναντι	
  από	
  

τις	
  ίσες	
  πλευρές	
  ΑΔ	
  και	
  ΑΕ.	
  	
  Το	
  τρίγωνο	
  ΑΒΓ	
  είναι	
  ισοσκελές	
  συνεπώς:	
  	
  ΓΒΑ = ΒΓΑ.	
  

Άρα	
  ΔΒΑ+   ΓΒΑ = ΕΓΑ+	
  ΒΓΑ	
  ή	
  ΔΒΓ	
  =	
  ΕΓΒ.	
  	
  	
  


